
Surface Area of  a Triangular Prism Example             www.cazoommaths.com/us 

Find the total surface area of  this 

triangular prism 
 

Notice: How many sides does it have? 

Area of  the blue rectangle face = 

3 cm x 2 cm = 6 cm2 

Area of  the red rectangle face = 

4 cm x 2 cm = 8 cm2 

 

Total surface area =  

6 cm2 + 8 cm2 + 10 cm2  

+ 12 cm2 =  36 cm2
 

3
 c

m
 

4 cm 

3
 c

m
 

4 cm 

Area of  the green rectangle face = 

5 cm x 2 cm = 10 cm2 
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Area of  one purple triangle face = 

3 cm x 4 cm ÷ 2 = 6 cm2 

Area of  two purple triangle faces = 

6 cm2 x 2  = 12 cm2 
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